=LPDB

*UXSD 5R]INiDG 35% *

7N\J

3"z, 5XNV]D 3DZHi
PJU =% 35% "

7\6]

6RFIRIRJLD GID
SUDZQINyZ ZDU GU
5RG]IN -DURViDZ =%

7N\J

=DVDG\ IHFKQNL
SUDZRGDZF]HI ZDU GU

7N\J

=DVDG\ HFKQNL
SUDZRGDZF]HI ZDU GU

36 - 23 =DICFID RQ
IQH 35% " H

ZWRUHN

3UDZR F\ZUQH F]CGii
RJYIQD Z SURI ]Z GU

KDE /ISLEVNL $IHNVDQGHU
=DICFLD RQ (LQH 35%

3UDZR DGPLQLVIUDF\IQH

F]E6i RIYIQD Z  GU

KDE SURI 8- +DEXGD

$GDP =DICFLD RQ 0QH
35% - -

7N\

3UDZR F\ZUQH F1CGi

RIYIQDZ 7\G] ~ SIRI

1Z GUKDE /ISIEVN.
$IHNVDQGHU =DICFID RQ
IQH  35% " =

H 35% - 3DUDGRZVNL ODUXV] =% 3DUDGRZVNL ODUXV] =%
- VSvi - $5 35% - 35% -
= VSyiFJHVQH SUDZR R R
Z\ERUFH :$5 - $5
7\ 7\G] 7\G]
= 3V\FKRIRJID GID 3V\FKRIRJID GID
I " SUDZQINyZ 6RFIRIRILD SUDZQINyZ B6RFIRIRILD
a gg?&ﬂﬁ“ GDFER%LSE ’:02” GID SUIDZQINyZ ZDU GU GID SUIDZQINyZ ZDU GU
= 35% " - 1DSRUD = RIFIHFK =% 1DSRUD = RIFIHFK =%
O] - 358" = 358" =
I 7KH &RXUIRI -XVILFH RI
o IKH (XURSHDQ 8QIRQ IIKH
31) LQVILIXILRQ SURFHGXUH DQG
&DVH /DZ
7N
3"z, PJ
- ZIDINRZVND _DURIQD =
% 358" =
=DZRG\ SUDZQIF]H Z
3RIVFH KIVIRUD
ZVSyiFJHVQRGFL
7N 7N 7N 7N

3UDZRNDUQH Z Gl

= UyEH) $GDP  =DICFID
RQUQH 358" =
ZINJ  ]DICFID GR
JRG]

HURGD

7N\

3UDZR F\ZUQH F]CGi
RJYIQD ZDU PJU

. ZIDINRZVND . DURIQD
% 35% "
-$5

7N\J

3UDZR DGPLQLVIUDF\IQH

F] RIyIQD ZDU GU

_LHGUT\QHN OLFKDi =%
35% *

-$5

7N\

3UDZR DGPLQVIUDF\IQH
F] RIYIQD ZDU GU
_HGUT\QHN OLFKD: =%

.20387(52:$
35% " :-$5
7\6]

3UDZR DGPLQVIUDFIQH

F1CGi RIYIQD Z GU

KDE SURI 8-* +DEXGD

$GDP =DICFID RQ (LQH
35" =

7N\

3UDZR F\ZUQH F]CGi
RJYIQD ZDU PJU

. ZIDINRZVND .DURIQD =
% 35% -

-$5




=LPDB

*UXSD 5R]INiDG 35% ~

HURGD

7\6]

3UDZR F\ZUQH F]CGi
RJYIQD Z SURI ]Z GU

KDE /LSIEVNL $IHNVDQGHU
=DICFDRQUQH  35%

36 - 23 =DICFID RQ

F1ZDUWHN

7N\J

G6RFIRIRJLD GID
SUDZQINyZ ZDU GU
S5RG]IN -DURViDZ =%

7N\J

3VAFKRIRJLD GID
SUDZQINyZ 6RFIRIRJID
GID SUDZQINyZ ZDU GU

7N\J

3VAFKRIRJLD GID
SUDZQINyZ 6RFIRIRJID
GID SUDZQINyZ ZDU GU

SLCWHN

35% * 1DSRUD = RIFIHFK =% 1DSRUD = RIFIHFK =%
-$5 35% * 35% *
-$5 -$5
7\ 7\

3UDZR NDUQH ZDU GU

= UyEHI $IHNVDQGHU =%
35% *

-$5

ZI\J  DICFID GR JRG]

3UDZR NDUQH ZDU GU

*DUZR) OUHQD =%
35% -$5

ZINJ  ]DICFID GR

7\

3UDZR NDUQH ZDU Gl

= UyEH) $IHNVDQGHU =%
35%

-$5

ZNJ  ]DICFLD GR JRG]

6R




